
A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

© 2020 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

FINISH MATERIAL

TITLEDRAFTER

CHECKER

ENGINEER DOCUMENT NO.

SHEET

SIZE SCALE

TOLERANCES SAP MATERIAL MASTER

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

SEE TABLE

SEE NOTES SEE NOTES

UN
LE

SS
 O

TH
ER

WI
SE

 S
PE

CI
FI

ED
 

DI
ME

NS
IO

NS
 A

RE
 I

N
MI

LL
IM

ET
ER

S

R. SCHOENFELDER
INSTALLATION DRAWING,

SPLICE CABINET ODF-SPLCAB-12 

J. ANDERSON A2 0.100 A19009077
CMO 40105152CMO

ALL SURFACES WORK AREA: 58 MODEL DRAWING

1 OF 3VERSION STATUS REVISION VERSION STATUS REVISION

00 00 RE A

2 POST RACK 
MOUNTING BRACKET POSITION

SPLICE CABINET ODF-SPLCAB-12 
2 POST RACK MOUNTING

SPLICE CABINET MOUNTING OPTIONS
1. RACK MOUNTING: 19" OR 23" WIDE RACKS. 19" SHOWN.
2. 4 POST RACK OR CABINET MOUNTING (19" OR 23")
3. WALL MOUNT
 

 
NOTES: 
 
1. USES UP TO 12 COMMSCOPE 288F SPLICE TRAYS.
    TRAY PN: 760243050 (FOST-ACC-D-TRAY-RR-288-KIT) 
 
2. MAXIMUM CAPACITY: 3456 FIBERS. ROLLABLE RIBBON ONLY.
 
3. UNITS: INCHES [mm]

COMMSCOPE RK6-45A-ZA
6" SEISMIC RACK (REF)

RACK MOUNT SPLICE CABINET
 

IMPORTANT: MOUNT SPLICE CABINET TO RACK 
WITH DOOR FASTENED TO CABINET.

MOUNTING
BRACKET

STAR WASHER

M6 SCREW (8mm LONG)

GROUND LOCATION
#10-32 THREADS

(FASTENERS NOT PROVIDED)

REF17.45
443.2[ ]

REF11.34
287.9[ ]REF19.00

482.6[ ]

REF18.31
465.1[ ]

REF

42.29
1074.2[ ]

REF10.17
258.2[ ]

REVISIONS

REV CMO DATE APPROVED

A 40105152CMO 6-MAR-2020 RCS

660105059 A

MID REV



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

TITLE

DOCUMENT NO.

SHEET

SIZE SCALE

© 2020 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

INSTALLATION DRAWING,
SPLICE CABINET ODF-SPLCAB-12 

A2 0.100 A19009077
DRAWING

2 OF 3VERSION STATUS REVISION

00 RE A

MOUNTING
BRACKET

STAR WASHER

M6 SCREW (8mm LONG)

CABINET OR 4 POST RACK 
MOUNTING BRACKET POSITION

SPLICE CABINET ODF-SPLCAB-12 
4 POST RACK OR CABINET MOUNTING

19" 4 POST OR CABINET RACK

RACK MOUNT SPLICE CABINET
 

IMPORTANT: MOUNT SPLICE CABINET TO RACK 
WITH DOOR FASTENED TO CABINET.



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

TITLE

DOCUMENT NO.

SHEET

SIZE SCALE

© 2020 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

INSTALLATION DRAWING,
SPLICE CABINET ODF-SPLCAB-12 

A2 0.100 A19009077
DRAWING

3 OF 3VERSION STATUS REVISION

00 RE A

SPLICE CABINET ODF-SPLCAB-12 
WALL MOUNTING

NOTES:
 
1. ATTACH SPLICE CABINET TO MOUNTING BRACKETS WITH #12-24 SCREWS.
 
2. ATTACH MOUNTING BRACKETS TO WALL WITH 1/4" DIA. OR SMALLER FASTENERS.

WALL MOUNTING 
BRACKETS#12-24 SCREW (4)

STAR WASHER (4)

#12-24 THREADED PEMS (3)
FOR MOUNTING CABINET TO BRACKET

18.00
457.2[ ]

REF

19.00
482.6[ ]

REF

12.02
305.2[ ]

REF

42.29
1074.2[ ]

28.50
723.9[ ]

 (2)3.50
88.9[ ]

REF0.75
19.1[ ]

REF18.00
457.2[ ]

REF3.50
88.9[ ]

 
FOR MOUNTING BRACKET TO WALL

0.265 6.73[ ]


	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_5
	new_view_6
	new_view_8
	right_9
	top_10
	new_view_18


	Sheet 2
	Views
	new_view_3
	new_view_4
	new_view_12
	new_view_14


	Sheet 3
	Views
	new_view_15
	new_view_16
	right_17
	new_view_21
	right_22



